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Visual Basic Language Programming
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Abstract

The paper introduces the method of Visual Basic program programming circuit calculation curve elements, code writing steps and
source code. Because Microsoft office software and WPS software are common with the built-in VBA module, you can modify the
code at any time according to your needs, which is very convenient and practical.
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_ Dim bj(1 To 6) As Integer
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Dim jzx(1 To 7) As Single
Dim xxj1(1 To 7) As Double
Dim zj(1 To 6) As Double
Dim zjh(1 To 6) As Double
Dim t(1 To 6) As Single
Dim b0(1 To 6) As Double
Dim p(1 To 6) As Double
Dim m(1 To 6) As Double
Dim I(1 To 6) As Single
Dim gm(1 To 6) As Double
Dim ¢0(1 To 6) As Single
" AR AR
Dim kzh(1 To 6) As Single
Dim khy(1 To 6) As Single
Dim kqz(1 To 6) As Single
Dim kyh(1 To 6) As Single
Dim khz(1 To 6) As Single
Dim dt(1 To 6) As Double
Dim bt1(1 To 6) As Double
" AFRAEEA
Dim xzh(1 To 6) As Double, yzh(1 To 6) As Double
Dim xhy(1 To 6) As Double, yhy(1 To 6) As Double
Dim xqz(1 To 6) As Double, yqz(1 To 6) As Double
Dim xyh(1 To 6) As Double, yyh(1 To 6) As Double
Dim xhz(1 To 6) As Double, yhz(1 To 6) As Double
Dim x(1 To 6) As Double, y(1 To 6) As Double
Dim i As Integer, j As Integer, txd(0 To 15) As Double
Dim strline As String
Dim v()
i=0
Open “d:\inputdata.txt” For Input As #1
Do Until EOF(1)
i=i+1
Line Input #1, strline
ReDim Preserve v(i)
v(i- 1) =strline
Loop
Close #1

Fori=0To7
txd(i) = v(i): jdx(i) = v(i): v(i) = txd(i)
txd(8 +1) = v(8 + i): jdy(i) = v(8 +1): v(8 + i) = txd(8 + i)
Next
Fori=1To 6
txd(i) = v(15 +1): bj(i) = v(15 +1): v(15 + i) = txd(i)
txd(i) = v(15 + i): hq(i) = v(21 +i): v(21 + i) = txd(i)
Next
Form1.Print jdx(3), jdy(7), bj(1), bj(6), hq(1), hq(6)
Fori=1To7
s(1) = Sqr((dx(i) - jdx(i - 1)) * 2+ (dy(i) - jdy(i - D) * 2)
A RS
If jdx(i) <> jdx(i - 1) And jdy(i) <> jdy(i - 1) Then
xxj(i) = Atn(Abs((dy(i) - jdy(i - 1)) / (dx(i) - jdx(i - 1)) ' &
PR
End If
If jdx(i) > jdx(i - 1) And jdy(i) > jdy(i - 1) Then '§%{k
JERIT5 AL
xxj1(i) = xxj(i)
Elself jdx(i) < jdx(i - 1) And jdy(i) > jdy(i - 1) Then
xxj1(i) = pi - xxj(i)
Elself jdx(i) <jdx(i - 1) And jdy(i) <jdy(i - 1) Then
xxj1(i) = pi + xxj(i)
Else
xxj1(i) =2 * pi - xxj(i)
End If

Next

Fori=1To 6
zj(i) = xxj1(1 + 1) - xxj1(i)
If zj(i) > 0 And zj(i) < pi Then
zjh(i) = zj(i)
b(i) =1
Elself zj(i) > pi And zj(i) <2 * pi Then
zjh(i) =2 * pi - zj(i)
b(i) =-1
Elself zj(i) > -pi And zj(i) < 0 Then
zjh(i) = -zj(i)
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b(i) =-1
Else
zjh(i) = 2 * pi + zj(i)
b(i) =1
End If
Next
Fori=1To 6
b0(i) = hq(i) / 2 / bj(i)
p(i) = hq(i) * 2/ 24 / bj(i)
m(i) = hq(i) / 2 - hq(i) ~ 3/ 240 / bji) * 2
t(i) = (bj(i) + p(i)) * Tan(zjh(i) / 2) + m(i)
1) = (zjh(i) - 2 * bO(i)) * bj(i) + 2 * hq(i)
gm(i) = Atn((bj(i) + p(i)) / (t(i) - m(i)))
e0(1) = ((bj(@) + p(1)) / Sin(gm(i))) - bj(i)
Next

kzh(1) = Ic + s(1) - t(1)
khy(1) = kzh(1) + hq(1)
kqz(1) = khy(1) + (pi / 2 - bO(1) - gm(1)) * bj(1)
kyh(1) = kzh(1) + 1(1) - hq(1)
khz(1) = kzh(1) + 1(1)

AT
kzh(i) = khz(i - 1) + (s(i) - (i) - t(i - 1))
kqz(i) = khy(i) + (pi / 2 - bO(i) - gm(i)) * bj(i)
kyh(i) = kzh(i) + 1(i) - hq(i)

Fori=2To 6

khz(1) = kzh(i) + 1(i)

Next

fori=1t06
xzh(i) = jdx(i) + t(i) * Cos(xxj1(i) + pi)
yzh(i) = jdy(i) + t(i) * Sin(xxj1(i) + pi)
xhz(i) = jdx(i) + t(i) * Cos(xxj1(i + 1))
yhz(i) = jdy(i) + t(i) * Sin(xxj1(i+ 1))

x(i) = hq(i) - hq(i) * 3/ 40 / bj(i) * 2
y(i) = hq(i) » 2 / 6 / bi(i) - hq(i) » 4 / 336 / bi(i) * 3
dt(i) = (kqz(i) - khy(i)) / 2 / bj(i)

4

btl(i) = hq(i) / 2 / bj(i)

If b(i) = -1 Then
xhy(i) = xzh(i) + Sqr((x(i) » 2 + y(i) ~ 2)) * Cos(xxj1(i) - Atn(y(i)
/x(1)))
yhy(i) = yzh(i) + Sqr((x(i) » 2 + y(i) * 2)) * Sin(xxj1(i) - Atn(y() /
x(1)))
xqz(i) = xhy(i) + 2 * bj(i) * Sin(dt(i)) * Cos(xxj1(i) - bt1(i) - dt(i))
yqz(i) = yhy(i) + 2 * bj(i) * Sin(dt(i)) * Sin(xxj1(i) - bt1(i) - dt(i))
xyh(i) = xhz(i) + Sqr((x(i) * 2 + y(i) » 2)) * Cos(xxj1(i + 1) + pi +
Atn(y(i) / (1))
yyh(i) = yhz(i) + Sqr((x(i) 2 + y(i) ~ 2)) * Sin(xxj1(i + 1) + pi +
Atn(y(i) / x(1)))

Else
xhy(i) = xzh(i) + Sqr((x(i) » 2 + y(i) » 2)) * Cos(xxj1(i) + Atn(y(i)
/x(1)))yhy(i) =
yzh(i) + Sqr((x(i) » 2 + y(i) * 2)) * Sin(xxj1(i) + Atn(y(i) / x(i)))
xqz(i) = xhy(i) + 2 * bj(i) * Sin(dt(i)) * Cos(xxj1(i) + btl(i) +
de(i))
yqz(i) = yhy(i) + 2 * bj(i) * Sin(dt(i)) * Sin(xxj1(i) + bt1(i) + dt(i))
xyh(i) = xhz(i) + Sqr((x(i) » 2 + y(i) * 2)) * Cos(xxj1(i + 1) + pi -
Atn(y(i) / (1))
yyh(i) = yhz(i) + Sqr((x(i) * 2 + y(i) * 2)) * Sin(xxj1(i + 1) + pi -
Atn(y(i) / x(1)))

End If

Next

Open “d:\outputdata.txt” For Output As #1
Fori=1To 6
Print#1, “55" &i& “/HELAIEIRE"
Print #1,1- 1&;1 & “SHUHEES S=" & (i)
Print #1, “a=" & Math.Round(zjh(i), 5)
Print #1, “T=" & Math.Round(t(i), 3)
Print #1, “#NKiE E0=" & Math.Round(e0(i), 2)
Print #1, “HRZREK L=" & Math.Round(1(i), 3)

Print #1, ; “Xzh=" ; Math.Round(xzh(i), 2), “yzh=" ;

Math.Round(yzh(i), 2)
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Print #1, ; “Xhy=" ; Math.Round(xhy(i), 2),
Math.Round(yhy(i), 2)
Print #1, ; “Xqz=" ; Math.Round(xqz(i), 2),
Math.Round(yqz(i), 2)
Print #1, ; “Xyh=" ; Math.Round(xyh(i), 2),
Math.Round(yyh(i), 2)
Print #1, ; “Xhz=" ; Math.Round(xhz(i), 2),
Math.Round(yhz(i), 2)

Next

Close #1

End Sub
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